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             array 
 

 

XXXXX 
XXXXX 
XXXXX 

 
3 by 5 array 
3 x 5 = 15 

5

3 

 
 
 
 
 
      
 

parentheses 
 

 
 

3 + 5 x 2 = 13 
 
 

3 + ( 5 x 2 ) = 13 

 
 
 
 
 

    range 
 

 Rainfall Amounts 
Month Amount 
April 3 in. 
May 4 in. 
June  5 in. 
July  2 in. 

August 1 in. 
September 1 in. 

5 – 1 = 4 inches 

greatest 

least 
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 median 
 

 
 
 

7, 13, 57, 98, 103 
 
 

 
 
 
 
 

       mode 
 

Football Touchdowns 
Game TD 

1 4 
2 3 
3 4 
4 5 
5 4 
6 1 

 
 
 
 
 

             yard 
 

 

12 inches + 12 inches +  
12 inches=  

1 yard or 3 feet or 36 inches 
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 gallon 
 

 

 
 
 
 
 

             half 
 

 2+2=4, half of 4 is 2 
 
3+3=6, half of 6 is 3 
 
4+4=8, half of 8 is 4 
 
5+5=10, half of 10 is 5

 
 
         
 

    double 
 

 2+2=4 
 

 3+3=6 
 

 4+4=8 
 

   5+5=10 
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thousand 
 

        1,349 

 
 
         
 

   area 
 

  

1 2 3 4 5 

6 7 8 9 10 

11 12 13 14 15 

 

3 cm. 

5 cm. 
5 cm. x 3 cm. = 15 sq. cm. 

 
 
         

equivalent 
 fractions 
 

  1/2    
 

 

2/4    
  

  

=
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numerator 
 

  

  

  

  

 

5
8

 
 
         
 

 

denominator 
 

  

  

  

  

 

5
8

 
 
         

one half   
     1/2 

 

 

How many parts 
you are talking 

about

How many  
parts in all 
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one fourth   
     1/4  

    

 
 
         

one third   
     1/3  

 

 

 

 
 
 
 
         

 rhombus 
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pentagon 
 

 
 
 
 
         

hexagon 
 

 
 
 
 
      
 
 

parallelogram 
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trapezoid 
 

        

number  
 model 
 

12 + 7 = 19 
23 – 8 = 15 
4 x 3 = 12 
25 / 5 = 5 


